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| 11 . 1 Subtraction (10-7?)

<= [3EdE Calculate |10 — 2.

- =~

.
A,

“““ T l0-2=

Move two balls from the left.

[QQOOQQQQ{@Q}- » The answer is 8.
o 8?

Calculate the following.

0 ©000000080} >

0O 0000000000} >

0 ©000000006; >

10— 1| =

10 — 3 =

10 — 4 =

0 —5 =

10 — 6=

10 —9 =

10 — 8 =

10— 7=
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11 - 2 ‘ Subtracting 9 (I) )

—»[3EmdB There are |3 clips. | used 9 clips.
How many clips are left?
Write the math sentence and find the answer.

___________________________________ We can’t subtract 9

{%%%%%%%%% AN g"zr: 3 nd | N
@ g

A

S
17

Subtract 9 from 10 1 and 3 make 4.5 The answer is 4.
and get 1.
Math 13— 9 =4 {Answer 4 7| clips
sentence

I_I_I There are |2 cupcakes. Nine of them are eaten. %%
How many cupcakes are left?
Write the math sentence and find the answer.

Sso -

Math

Answer cupcakes
sentence

I_Z_I There are |5 eggs. My family used 9 of them.
How many eggs are left?
Write the math sentence and find the answer.

~. -

Math

Answer eqgqgs
sentence 99
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L 11 B 3 ‘ Subtraction 9 (2)

<= [3EdE Calculate || — 9.

_______ W”be Caan tq m ﬂ .
B —— . : . omtr « D
< -{OOOOO ________________ l ] farnd X‘m
| 6

Subtract 9 from 10 1 and 1 make 2.8 The answer is 2

and get 1. ' y
[ =9 = 2

Calculate the following.

%% O «-{00000000O0 00
|12 — 9 =

0 <« 0000000000 0000

e 49 =

6 «-{10000000000 000

T 3-9=

0 «-{0000000000 00000

T 59 =

O «-{ 0000000000 00000000

e 89 =

0O «-{ 0000000000 000000

e 16— 9 =

O «-{0D000000000 0000000

......................................... 17 — 9 =

98




| ®

] 11 B 4 ‘ Subtracting 8

<»[3EJdE Calculate || — 8

We can'’t
I _ subtract 8 || | ﬁ
«~ 0000009000 @ o v
:gd l, @ 0 ’ ST h

Subtract 8 from 10

2 and 1 make 3.7>The answer is 3.
and get 2. j/
|| —8=| 3

Calculate the following.

%% 0 «-{0000000000 00
|12 — 8 =

0 «-{10D000000000 0000

I N

6 «-{D000000000 000

T N

0 «-{10000000000 00000

e 58 =

O «-{0D000000000 000000

e 6 - 8=

0O «-{0000000000 0000000

__________________________________________ |7 — 8 =

Il =8 =

99
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11 - 5D ectont

<»[3EdE Calculate || — 7.

We can’t
"""""""""""""""""""""" subtract m
+ 0000005000 © fmbm : (yf /'\
and l, @ 6 ©

Subtract 7 from 10 3 and 1 make 4. The answer is 4

and get 3. /
I —=7=1 4

Calculate the following.

0 + 0000006000 cooo
O + 0000000000 coo
0 + 9000006600 00000
0 « 5600668688 000000
o-@ossesseeD 0 -
0 --@sssssseee -

10— 7 =

100
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L 11 - 6 ‘ Explanation about How to CaIcuIateJ

< [3EndE Write the numbers in the

12 — 9
Subtract 9 from 10 and get 1. 1 and

Write the numbers in the

2 ‘ make

12 is 10 and 2, so....

12 —9 =13 We can’t subtract 9 from 2! E DR ;

O 14-9

Subtract 9 from 10 and get 1. 1 and make
14— 9 =
{% o 3-8
Subtract 8 from 10 and get 2. 2 and make
13— 8 =
€ 5-7
Subtract 7 from 10 and get 3. 3 and make
15 =7 =
D 16-9
Subtract 9 from 10 and get 1. 1 and make
16 — 9 =
o 17-8
Subtract 8 from 10 and get 2. 2 and make

7 -8 =
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L 11 B 7 ‘ Subtraction (1) )

—»[2Enia Calculate the following subtraction.

-9 = - ||—<7=Z(

Subtract 9 from |0 and get |.

@
Calculate the following subtractions.

O 2-9-= 9|3—q=

&
&

& -5 = S0 12 -8 =

@D 15-8= ® -7 =

O 13 -7= M 15 -7 =

Subtract 6 from |0 and get 4. ﬁ

@ 1 -6= O 12 -6=

102
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L 11 B 8 ‘ Subtraction (2)

—»[2Ena Calculate the following subtraction.

-2 = m -2 =
Calculate the following subtractions.
@ -3= O -4=
© 1 -6= O -5=
O 1 -35= 0O -7-=
@ 2-3-= O 2-4-=
O 2-6= @ 12 -5-=
D 13-4= ® 13-5-=
®i3-7= D 13-6=
O 14 -5 = D 14 -6 =
@ 14 -8 = O 14 -7 =

i
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M- e |

I_l—l Calculate the following subtractions.

O 5-6= O -2-=

O 6-8-= 0O 12-7-=

O -9-= O 17-8-=

O 16-7= O 2-38-=

O 13-8= O 14-9=

® 2-9= ® 13- 4=

I_Z_I Connect the answer and formula with a line.
5 6 7 8 9
O O O O O

) ) e P
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|_3—| Colour in the shirts whose answer is 7.

4' Read the following questions. Write the math sentences

and find the answers.

There are |15 monkeys here. Seven of them ran away.
How many monkeys are left?

Math
sentence

Answer

monkeys

There are | | books in the shop. Nine of them are sold.
How many books are left?

N
\

"'E:LIII/III/II'EI/U} 7

]
1
7

Math
sentence
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Answer

books
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